


Twelve persons are sitting in two parallel rows 

containing six person each in such a way that there is 

an equal distance between adjacent persons. In row-1 

P, Q, R, S, T and U are seated and all of them are 

facing South. In row-2 A, B, C, D, E and F are seated 

and all of them are facing North. Therefore, in the 

given seating arrangement each member seated in a 

row faces another member in the other row. Q sits at 

one of the end of the row. One person sits between P 

and Q. R sits opposite to D. A sits immediately right 

of D. Three persons sit between S and T and S does 

not sit at any end of the line. U is not an immediate 

neighbour of T. E sits opposite to S. C sits second to 

the right of B. Either B or C sits at end of the row. P 

does not face B and T does not face C. F sits second 

to the right of E.

बारह व्यक्ति दो समानाांतर पांक्तियों में प्रत्येक में छह व्यक्ति 

इस प्रकार बैठे हैं क्तक वहााँ आसन्न व्यक्तियों के बीच समान 

दरूी ह।ै पांक्ति-1 में P, Q, R, S, T और U बैठे हैं और वे 

सभी हैं दक्तिण का सामना करना पड़ रहा ह।ै पांक्ति-2 में A, 

B, C, D, E और F बैठे हैं और उन सभी का मखु उत्तर की 

ओर ह।ै इसक्तिए, में दी गई बैठने की व्यवस्था में एक पांक्ति में 

बैठे प्रत्येक सदस्य का मखु दसूरी पांक्ति में दसूरे सदस्य की

ओर ह।ै Q पांक्ति के क्तकसी एक छोर पर बैठा ह।ै P और Q 

के बीच एक व्यक्ति बैठता ह।ै R, D के क्तवपरीत बैठता ह।ै 

A, D के तरुांत दायें बैठता ह ै। S और T के बीच तीन व्यक्ति

बैठे हैं और S पांक्ति के क्तकसी भी छोर पर नहीं बैठा ह।ै U , 

T का तत्काि पड़ोसी नहीं ह ै। E, S के क्तवपरीत बैठता ह।ै 

C, B के दायें से दसूरे स्थान पर बैठता ह।ै या तो B या C 

पांक्ति के अांत में बैठता ह।ै P का मखु B की ओर नहीं ह ैऔर 

T का मखु C की ओर नहीं ह।ै F, E के दायें से दसूरे स्थान

पर बैठा ह।ै
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the row. One person sits between P and Q. 

R sits opposite to D. A sits immediately 

right of D. Three persons sit between S and 

T and S does not sit at any end of the line. 
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There are two square field in different size that 

the larger one is surrounding the smaller field. 

Four gates are there for each field in the middle 

side .Eight persons A B C D E F G H are 

standing at the different gate but not necessary 

in the same order. The person who are on the 

side of the larger park facing centre and the 

person who are sitting at the smaller park 

facing outside such that inner side person outer 

side person are facing to each other person. The 

one person standing between B and D. C faces 

B. A is to the immediate right of C . G is not the 

immediate neighbour of D. G faces neither D 

nor F. one person standing between H and F. E 

is facing the centre

अलग-अलगआकार में दो वगग के्षत्र होते हैं | छोटा के्षत्र

चारों ओर से बडे के्षत्र से घिरा हुआ है । मध्य घदशा में

प्रत्येक के्षत्र के घलए चार द्वार हैं। प्रत्येक व्यघि A B C 

D E F G H अलग गेट पर खडा है लेघकन उसी क्रम में

आवश्यक नहीं है। वह व्यघि जो बडे पाकग में बैठे हुए हैं

कें द्र की तरफ देख रहे है और जो व्यघि छोटे पाकग में बैठे

हुए हैं बाहर की तरफ देख रहे हैं जैसे घक आंतररक पक्ष

का व्यघि बाहरी पक्ष का व्यघि एक-दूसरे व्यघि की

ओर देख रहे हैं । B और D के बीच एक व्यघि खडा है।

B,C  कीओर देख रहा है । A, C के तत्काल दाई ंओर

है। G, D का घनकटतम पडोसी नहीं है। G न तो D और

न ही F कीओर देख रहा है। H और F के बीच एक

व्यघि खडा है। E कें द्र की ओर देख रहा है ।
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6 person A B C D E and F are standing around the triangle such that 3 persons 

standing in the corer are facing away from the centre and 3 persons standing along 

the side are facing towards the centre. Those standing at the corners like either 

Black or White and those standing along the sides either Red or Blue.

.E and F standing to the immediate left of each other.

.Neither E nor the person standing adjacent to E likes Black.

.Neither F nor the person standing adjacent to F likes Blue.

.2 persons are standing between B and E.

.2 persons are standing between F and A.

.C is standing to the immediate left of the only persons who likes Blue.

.Same number of persons like Black and Red.



6 व्यघि A B C D E और F घत्रभुज के चारों ओर खडे हैं, घजसमें से तीन व्यघि घकनारों पर खडे हैं

और कें द्र के घवपरीत देख रहे हैं तथा तीन व्यघि भुजाओं के मध्य में खडे हैं और कें द्र की ओर देख

रहे हैं । वह व्यघि जो घकनारे में खडे हैं उन्हें या तो काला या सफेद रंग पसंद है और वह व्यघि जो

भुजाओं के मध्य में खडे हैं उन्हें या तो लाल या नीला रंग पसंद है ।

.E और F एक दूसरे के तत्काल बाई ंओर खडे हैं।

. न तो E और न ही E से सटे व्यघि को काला रंग पसंद है।

.न तो F और ना ही F से सटे व्यघि को नीला रंग पसंद है।

.2 व्यघि B और E के बीच खडे होते हैं ।

. 2 व्यघि F और A के बीच खडे होते हैं।

. एकमात्र व्यघि घजसे नीला रंग पसंद है ,उसके तत्काल बाएं भाग में C खडा होता है।

. काला और लाल रंग पसंद करने वाले व्यघियों की संख्या समान है ।
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